BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 12 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO JULY 22, 2024

BIDDER'S NAME

1) ALLGOOD CONSTRUCTION CO., INC.	\$616,023.81
2) DURWOOD GREENE CONSTRUCTION CO.	\$619,254.25
3) DACO PAVING, INC.	\$638,000.00
4) HCG	\$645,352.55
5) BEYER CONSTRUCTION, LLC	\$686,193.50
6) R CONSTRUCTION CIVIL, LLC	\$689,404.00

CALENDAR DAYS 45/55

7) ICON GC LLC

CARISSA M. FABIAN

0386-5120C (9.2)

TOTAL AMOUNT BID

\$734,890.00

C - Physician

I, Carissa Fabian . PE, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 12 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024 LJA ENGINEERING, INC.

2) DURWOOD GREENE CONSTRUCTION CO.

3) DACO PAVING, INC.

JULY 19, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO JULY 22, 2024 0386-5120C (9.2)

1) ALLGOOD CONSTRUCTION CO., INC.

				1) ALLGOOD CONSTAU	CTION CO., INC.	2) DURWOOD GREENE C	UNSTRUCTION CU.	3) DAGO PAVI	NG, INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTIO	DN 12 - PAVING ITEMS (INTERNAL)								
N S 9	ROADWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO AATCH ELEVATIONS PER GRADING PLAN (SHEET 11 AND 12 OF 30), TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 55% STANDARD PROCTOR DENSITY WITH MAXIMUM 8° LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	2999	\$4.38	\$13,135.62	\$5.00	\$14,995,00	\$7.95	\$23,842,05
5	TREINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	9063	\$48.75	\$441,821.25	\$49.00	\$444,087.00	\$48,75	\$441,821.25
	" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	9658	\$4,38	\$42,302.04	\$3,50	\$33,803,00	\$3.35	\$32,354.30
C	TYDRATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	73	\$385,50	\$28,141.50	\$370.00	\$27,010.00	\$365,00	\$26,645.00
C	LY ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN LACE	TON	194	\$136.75	\$26,529.50	\$132,00	\$25,608.00	\$160,00	\$31,040.00
6 6	REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	910	\$3.30	\$3,003.00	\$3.75	\$3,412.50	\$4.40	\$4,004.00
7 4	"X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4357	\$3.30	\$14,378.10	\$3.75	\$16,338.75	\$4,40	\$19,170.80
	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 6" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	84	\$2.20	\$184.80	\$10.00	\$840,00	\$5,50	\$462.00
	BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM IRE HYDRANT, COMPLETE IN PLACE	EA	4	\$13.75	\$55,00	\$20,00	\$80,00	\$17.00	\$68.00
	ERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, IARKERS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS	1	\$495.00	\$495,00	\$1,000,00	\$1,000.00	\$1,789.60	\$1,789.60
11 S	TREET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	5	\$495.00	\$2,475.00	\$800.00	\$4,000.00	\$800.00	\$4,000.00
R	DA RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, PER DETAIL SHEET 28), COMPLETE IN PLACE	EA	6	\$902.00	\$5,412.00	\$1,600,00	\$9,600.00	\$1,400.00	\$8,400,00
13 R	EMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$165.00	\$495.00	\$10.00	\$30.00	\$1.00	\$3.00
0	8' X 8' X 8" CONCRETE MAILBOX PAD WITH #8 BARS AT 15" O.C.E.W. OR EQUAL, IN 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN LACE	EA	1	\$2,090.00	\$2,090.00	\$2,500.00	\$2,500.00	\$2,200,00	\$2,200.00
C	ULL CONSTRUCTION STAKING FOR PAVING AND APPURTENANCES ITEMS, CORDINATE WITH LJA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, OMPLETE IN PLACE	LS	1	\$7,700.00	\$7,700.00	\$7,700.00	\$7,700.00	\$7,700.00	\$7,700.00
G A	S BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING LEVATIONS AT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, SIGNIFICANT FRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT ND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LJA SURVEYING, INC., ARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00
S R O S	XTRA SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION TAKES THAT WERE DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE ESTAKING DUE TO CONTRACTOR DESTROYING OWN CONSTRUCTION STAKING REFAILING TO PROTECT CONSTRUCTION STAKING FROM KNOWN HAZARDS UCH AS CONSTRUCTION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE, IR CONTRACTOR'S OWN EQUIPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 12 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024

LJA ENGINEERING, INC.
AVIGAIL AMIGLEO
JULY 22, 2024

				1) ALLGOOD CONSTR	RUCTION CO., INC.	2) DURWOOD GREENE	CONSTRUCTION CO.	3) DACO PAV	'ING, INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
HAULIN	OT AND RESERVE GRADING, INCLUDING STRIPPING AND PROOFROLLING, G, PLACEMENT, AND COMPACTION OF MATERIALS AND REPLACEMENT IPPINGS, COMPLETE IN PLACE	EA	87	\$172.50	\$15,007,50	\$150.00	\$13,050.00	\$200,00	\$17,400.00
19 REGRAI DRAINA	DING OF EXISTING ROAD SWALES, CONTRACTOR TO ENSURE POSITIVE GE	LF	200	\$7.48	\$1,496,00	\$5,00	\$1,000.00	\$6,50	\$1,300,00
SECTION 12 -	PAVING ITEMS (INTERNAL) SUBTOTAL:				\$610,921.31		\$611,254.25		\$628,400,00
SECTION 12 -	STORM WATER POLLUTION PREVENTION PLAN ITEMS								
	II INLET PROTECTION BARRIER (4 GRAVEL BAGS PER INLET) FOR SED AND EXISTING INLETS	EA	11	\$52.50	\$577.50	\$50,00	\$550,00	\$175.00	\$1,925.00
	WATER POLLUTION PREVENTION INSPECTION REPORTS CONDUCTED ON KLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$1,575,00	\$1,575.00	\$2,500.00	\$2,500.00	\$2,700.00	\$2,700.00
	L, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT R FENCING), COMPLETE IN PLACE	LF	100	\$1,50	\$150,00	\$1,50	\$150.00	\$2.75	\$275.00
	L, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, ETE IN PLACE	EA	1	\$500.00	\$500,00	\$1,500.00	\$1,500.00	\$650,00	\$650.00
REGRAD	L, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT AND DE THE AREA TO MATCH FINISHED GRADE, (AS DIRECTED BY THE IER), COMPLETE IN PLACE	EA	1	\$500.00	\$500,00	\$1,500.00	\$1,500,00	\$1,500.00	\$1,500.00
FROM P CONTAIL	RASH CONTAINER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH PROPERTY, ITEM INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING THE NER AND RETURNING IT TO THE SITE, AND REMOVAL OF THE CONTAINER COMPLETION, COMPLETE IN PLACE	EA	1	\$800.00	\$800,00	\$800,00	\$800.00	\$800.00	\$800.00
SECTION 12 -	STORM WATER POLLUTION PREVENTION PLAN ITEMS SUBTOTAL:				\$4,102.50		\$7,000,00		\$7,850.00
SECTION 12 -	MISCELLANEOUS ITEMS								***************************************
AFTER 4	CEMENT STABILIZED SAND, 200 PSI MINIMUM COMPRESSIVE STRENGTH 48 HOURS, PER HARRIS COUNTY SPECIFICATIONS, (TO BE USED ONLY AT RITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	50	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$35,00	\$1,750.00
SECTION 12 - I	MISCELLANEOUS ITEMS SUBTOTAL:				\$1,000.00		\$1,000.00		\$1,750.00
BIDDING SUMM	MARY								
	CTION 12 - PAVING ITEMS (INTERNAL)				\$610,921.31		\$611,254.25		\$628,400.00
	CTION 12 - STORM WATER POLLUTION PREVENTION PLAN ITEMS				\$4,102.50		\$7,000.00		\$7,850.00
	CTION 12 - MISCELLANEOUS ITEMS				\$1,000.00		\$1,000.00		\$1,750.00
TOTAL AMOUN	NT BASE BID				\$616,023.81		\$619,254.25		\$638,000.00

0386-5120C (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

OR CONTRACTOR'S OWN EQUIPMENT, ETC.)

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 12 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024 LJA ENGINEERING, INC.

LJA ENGINEERING, AVIGAIL AMIGLEO JULY 22, 2024 0386-5120C (9.2)

TTTA	0.500.15.40.1			4) HC		5) BEYER CONST		6) R CONSTRUCT	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MATCH ELEVATIONS F STRIPPING AND PROC	LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO PER GRADING PLAN (SHEET 11 AND 12 OF 30), TO INCLUDE PEROLLING, HAULING, PLACEMENT AND COMPACTION TO CTOR DENSITY WITH MAXIMUM B" LIFTS, REAPPLICATION OF	CY	2999	\$4.60	\$13,795.40	\$8.00	\$23,992.00	\$6.00	\$17,994.00
	CRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE NUM 5 SACKS CEMENT PER CUBIC YARD OF MIX,	SY	9063	\$48.25	\$437,289.75	\$53.95	\$488,948.85	\$53,00	\$480,339.00
	ILIZED SUB-GRADE (MANIPULATION), INCLUDES STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	9658	\$4,80	\$46,358,40	\$3,00	\$28,974.00	\$5,00	\$48,290.00
	STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL ROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN	TON	73	\$369.00	\$26,937,00	\$350,00	\$25,550.00	\$350,00	\$25,550,00
	ZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL ROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN	TON	194	\$136.00	\$26,384,00	\$135,00	\$26,190.00	\$140,00	\$27,160.00
6 6" REINFORCED CONC	RETE CURB, COMPLETE IN PLACE	LF	910	\$4.00	\$3,640.00	\$4.95	\$4,504.50	\$4,00	\$3,640.00
7 4" X 12" REINFORCED	CONCRETE CURB, COMPLETE IN PLACE	LF	4357	\$4.00	\$17,428.00	\$4,95	\$21,567.15	\$4.00	\$17,428.00
	6° REINFORCED CONCRETE PAVEMENT TO EXISTING 6° T, COMPLETE IN PLACE	LF	84	\$35,00	\$2,940.00	\$20.00	\$1,680.00	\$50,00	\$4,200.00
9 4" BLUE SQUARE DOU FIRE HYDRANT, COMP	BLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM LETE IN PLACE	EA	4	\$20.00	\$80.00	\$8,00	\$32.00	\$20,00	\$80,00
	CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, STRIPING), COMPLETE IN PLACE	LS	1	\$645.00	\$645.00	\$1,500.00	\$1,500.00	\$1,400,00	\$1,400.00
11 STREET SIGNS AND TH	RAFFIC SIGNS, COMPLETE IN PLACE	EA	5	\$780.00	\$3,900.00	\$750.00	\$3,750.00	\$500.00	\$2,500.00
REMOVAL OF EXISTING	INCLUDING TRUNCATED DOME BRICKS, INCLUDES G CURB IF REQUIRED AND ALL OTHER APPURTENANCES, 3), COMPLETE IN PLACE	EA	6	\$1,895.00	\$11,370.00	\$1,550,00	\$9,300.00	\$2,050.00	\$12,300.00
13 REMOVE AND DISPOS	E OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$200.00	\$600.00	\$30.00	\$90.00	\$1,00	\$3.00
	E MAILBOX PAD WITH #3 BARS AT 15" O.C.E.W. OR EQUAL, DDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN	EA	1	\$2,110.00	\$2,110.00	\$1,000.00	\$1,000.00	\$7,200.00	\$7,200.00
	STAKING FOR PAVING AND APPURTENANCES ITEMS, A SURVEYING, INC., AARON G. FERGUSON, 713.953.5196,	LS	1	\$7,700.00	\$7,700.00	\$7,700.00	\$7,700.00	\$7,700,00	\$7,700,00
ELEVATIONS AT THE T GRADE BREAKS AND E AND AN AUTOCAD FILE	PAVING AND APPURTENANCES ITEMS SHOWING OP OF CURB, BUILDING LINE, BACK OF LOT, SIGNIFICANT EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT E OF SURVEY, COORDINATE WITH LIA SURVEYING, INC., 1713.953.5196, COMPLETE IN PLACE	LS	1	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00	\$4,200.00
STAKES THAT WERE D RESTAKING DUE TO CO OR FAILING TO PROTE	FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE ONTRACTOR DESTROYING OWN CONSTRUCTION STAKING FROM KNOWN HAZARDS ION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE,	DAY	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 12 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024

LJA ENGINEERING, INC. AVIGAIL AMIGLEO
JULY 22, 2024

				4) HC	G	5) BEYER CONST	RUCTION, LLC	6) R CONSTRUCT	ION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	FINAL LOT AND RESERVE GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT, AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	87	\$305.00	\$26,535.00	\$265.00	\$23,055,00	\$235.00	\$20,445.00
19	REGRADING OF EXISTING ROAD SWALES, CONTRACTOR TO ENSURE POSITIVE DRAINAGE	LF	200	\$19,00	\$3,800.00	\$6,00	\$1,200.00	\$5.00	\$1,000.00
SECT	ON 12 - PAVING ITEMS (INTERNAL) SUBTOTAL:				\$637,712.55		\$675,233.50		\$683,429,00
SECT	ION 12 - STORM WATER POLLUTION PREVENTION PLAN ITEMS								
	STAGE II INLET PROTECTION BARRIER (4 GRAVEL BAGS PER INLET) FOR PROPOSED AND EXISTING INLETS	EA	11	\$90.00	\$990,00	\$10.00	\$110.00	\$25.00	\$275.00
	STORMWATER POLLUTION PREVENTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	-1	\$1,070.00	\$1,070.00	\$7,900.00	\$7,900.00	\$1,200.00	\$1,200.00
	INSTALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	100	\$1.80	\$180,00	\$1.50	\$150,00	\$2.00	\$200.00
4	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$500.00	\$500,00	\$500.00	\$500.00
	INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT AND REGRADE THE AREA TO MATCH FINISHED GRADE, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$500,00	\$500,00	\$500.00	\$500.00
	30 CY TRASH CONTAINER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH FROM PROPERTY, ITEM INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING THE CONTAINER AND RETURNING IT TO THE SITE, AND REMOVAL OF THE CONTAINER UPON COMPLETION, COMPLETE IN PLACE	EA	1	\$950.00	\$950.00	\$800.00	\$800,00	\$800.00	\$800.00
SECTI	ON 12 - STORM WATER POLLUTION PREVENTION PLAN ITEMS SUBTOTAL:				\$6,190.00		\$9,960.00		\$3,475.00
SECTI	ON 12 - MISCELLANEOUS ITEMS								
	EXTRA CEMENT STABILIZED SAND, 200 PSI MINIMUM COMPRESSIVE STRENGTH AFTER 48 HOURS, PER HARRIS COUNTY SPECIFICATIONS, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	50	\$29.00	\$1,450.00	\$20.00	\$1,000,00	\$50.00	\$2,500.00
SECTI	ON 12 - MISCELLANEOUS ITEMS SUBTOTAL:				\$1,450.00		\$1,000.00		\$2,500.00
BIDDII	NG SUMMARY								
SUBTO	OTAL SECTION 12 - PAVING ITEMS (INTERNAL)				\$637,712.55		\$675,233,50		\$683,429.00
SUBTO	OTAL SECTION 12 - STORM WATER POLLUTION PREVENTION PLAN ITEMS				\$6,190.00		\$9,960.00		\$3,475.00
SUBTO	DTAL SECTION 12 - MISCELLANEOUS ITEMS				\$1,450.00		\$1,000.00		\$2,500.00
TOTAL	AMOUNT BASE BID				\$645,352.55		\$686,193.50		\$689,404.00

0386-5120C (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 12 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JULY 19, 2024
LJA ENGINEERING, INC.
AVIGAIL AMIGLEO
JULY 22, 2024
0386-5120C (9.2)

7) ICON GC LLC

				7710014 0	CLLO
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
SECTION 12	- PAVING ITEMS (INTERNAL)				
MATCI STRIP 95% S	WAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO HELEVATIONS PER GRADING PLAN (SHEET 11 AND 12 OF 30), TO INCLUDE PING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO ITANDARD PROCTOR DENSITY WITH MAXIMUM 8' LIFTS, REAPPLICATION OF PINGS, COMPLETE IN PLACE	CY	2999	\$8.50	\$25,491.50
STREE	NFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE NGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, PLETE IN PLACE	SY	9063	\$52.50	\$475,807.50
	E/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES PACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	9658	\$7.50	\$72,435,00
	ATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL ITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN E	TON	73	\$390.00	\$28,470.00
	SH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL ITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN E	TON	194	\$155.00	\$30,070.00
6 6" REI	NFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	910	\$4.00	\$3,640.00
7 4" X 12	2" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4357	\$4,00	\$17,428,00
	ECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 6" RETE PAVEMENT, COMPLETE IN PLACE	LF	84	\$1,00	\$84.00
	JE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM HYDRANT, COMPLETE IN PLACE	EA	4	\$18,00	\$72.00
	ANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, ERS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS	1	\$1,500,00	\$1,500,00
11 STREE	ET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	5	\$600.00	\$3,000,00
REMO	RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES IVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, DETAIL SHEET 28), COMPLETE IN PLACE	EA	Ġ	\$1,630,00	\$9,780.00
13 REMO	IVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$10,00	\$30.00
	B' X 8" CONCRETE MAILBOX PAD WITH #3. BARS AT 15" O.C.E.W. OR EQUAL, BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER), COMPLETE IN E	EA	1	\$2,122.00	\$2,122.00
COOR	CONSTRUCTION STAKING FOR PAVING AND APPURTENANCES ITEMS, IDINATE WITH LJA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, ILETE IN PLACE	LS	1	\$7,700.00	\$7,700,00
GRADI AND A	JILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ATIONS AT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, SIGNIFICANT E BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT IN AUTOCAD FILE OF SURVEY, COORDINATE WITH LJA SURVEYING, INC., N G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$4,200.00	\$4,200.00
STAKE RESTA OR FA SUCH	A SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION ES THAT WERE DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE AKING DUE TO CONTRACTOR DESTROYING OWN CONSTRUCTION STAKING ILLING TO PROTECT CONSTRUCTION STAKING FROM KNOWN HAZARDS AS CONSTRUCTION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE, DITRACTOR'S OWN EQUIPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION 12 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JULY 19, 2024
LJA ENGINEERING, INC.
AVIGAIL AMIGLEO
JULY 22, 2024
0386-5120C (9.2)

7) ICON GC LLC

				/) ICON G	CLLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
18	FINAL LOT AND RESERVE GRADING, INCLUDING STRIPPING AND PROOFROLLI HAULING, PLACEMENT, AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE		87	\$480.00	\$41,760.00
19	REGRADING OF EXISTING ROAD SWALES, CONTRACTOR TO ENSURE POSITIVE DRAINAGE	E LF	200	\$9.00	\$1,800.00
SECT	ION 12 - PAVING ITEMS (INTERNAL) SUBTOTAL:				\$727,390.00
SECT	ION 12 - STORM WATER POLLUTION PREVENTION PLAN ITEMS				
1	STAGE II INLET PROTECTION BARRIER (4 GRAVEL BAGS PER INLET) FOR PROPOSED AND EXISTING INLETS	EA	11	\$50.00	\$550.00
2	STORMWATER POLLUTION PREVENTION INSPECTION REPORTS CONDUCTED A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	ON LS	1	\$1,500.00	\$1,500.00
3	INSTALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	100	\$5,00	\$500.00
4	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00
5	INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT AND REGRADE THE AREA TO MATCH FINISHED GRADE, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$500.00	\$500.00
6	30 CY TRASH CONTAINER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH FROM PROPERTY, ITEM INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING T CONTAINER AND RETURNING IT TO THE SITE, AND REMOVAL OF THE CONTAIN UPON COMPLETION, COMPLETE IN PLACE	HE	1	\$1,000.00	\$1,000.00
SECT	ION 12 - STORM WATER POLLUTION PREVENTION PLAN ITEMS SUBTOTAL:				\$4,550.00
SEC1	ION 12 - MISCELLANEOUS ITEMS				
1	EXTRA CEMENT STABILIZED SAND, 200 PSI MINIMUM COMPRESSIVE STRENGTI AFTER 48 HOURS, PER HARRIS COUNTY SPECIFICATIONS, (TO BE USED ONLY THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE		50	\$59.00	\$2,950.00
SECT	ON 12 - MISCELLANEOUS ITEMS SUBTOTAL:				\$2,950.00
BIDD	NG SUMMARY				
SUBT	OTAL SECTION 12 - PAVING ITEMS (INTERNAL)				\$727,390.00
SUBT	OTAL SECTION 12 - STORM WATER POLLUTION PREVENTION PLAN ITEMS				\$4,550.00
SUBT	OTAL SECTION 12 - MISCELLANEOUS ITEMS				\$2,950.00
TOTA	L AMOUNT BASE BID				\$734,890.00